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QUESTION 1

Which two features are different between VDP and VDPA? (Choose two.)
A. Support for guest level backups of SQL and Exchange

B. Ability to perform file level recovery

C. Virtual machines supported per appliance

D. Support for image level backups

Correct Answer: AC

QUESTION 2

Before upgrading from vCenter 4.x to 5.x, an administrator runs the vCenter Host Agent Pre-Upgrade Checker. The
Checker reports an issue. What would cause the vCenter Host Agent Pre-Upgrade Checker to report an issue?

A. The .NET framework 3.5 is installed.
B. The host network card is only 1 Gbps.
C. The file system is not intact.

D. The VMFS file system is version 4.0.

Correct Answer: C

QUESTION 3
An administrator needs to unmount a datastore that is also used for HA storage heartbeats.

What is the least disruptive method for an administrator to perform this activity on a slave HA host?

A. On the Datastore Heartbeating tab, unmount the datastore normally and confirm a new datastore has been selected.

B. On the Datastore Heartbeating tab, specify an alternate datastore, then unmount the datastore normally.
C. Disable HA datastore heartbeats, then unmount the datastore.
D. Reduce the number of heartbeat datastores, then remove the datastore from the heartbeat list.

Correct Answer: B

QUESTION 4
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A vSphere administrator needs a way of sending noncritical ESXi events to a remote server. Due to budget constraints,
no additional costs should be incurred. Which tool will best meet this requirement?

A. vSphere Syslog Collector

B. vSphere ESXi Dump Collector
C. vSphere vCenter Log Insight

D. vSphere Management Appliance

Correct Answer: A

QUESTION 5
A vSphere Standard Switch is configured with two uplinks.

When adjusting the failover order of the uplinks, what are two valid states in which an administrator can place the
uplinks? (Choose two.)

A. Active
B. Unused
C. Passive
D. Disabled

Correct Answer:. AB
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